with(DEtools) :

y(t), 1) ==y(t) +x(1)- Jdt)L[X(ﬂ y()] t=-2.9,x=
-2.2,y=-2. 2 {[0,.7,.71, [0, 9 9 1.5,1.5],10,.3,.3],[0,-1,-11], [0, 11,10, 1,-1],
[0,1,0],[0,-1,0],[0,0,17, [0, ], [0,-.3,-.3], [0,- 3 317, [0 3 313 arrows=TH1CK,
stepsize = .01, lmecolor black, tztle— ‘nonlinear’);

DEplot([diff (x(1), ) =x(t) - x(1)- y(¢), c]lj?é
-1, [
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DEplo [diff (x(1). 1) =x(1) = x(1) Y (1), diff (). &) =-3(8) x(8): Y1)}, [6(2), 3] =29, x =
-9..9, y——9 9 {[0 7,.7], [0 9 9] [0,1.5,1.5],[0,.3,.3],[0,-1,-1], [0,-1, 1], [0, 1,-1],
[0,1,0],[0,-1,0],[0,0,11],[0,0,-11], [0,- 3 31,10,-.3,.3],10,.3,-.3],[0,5.5,5.5], [0,-5,
-5] }, arrows = THICK, stepsize = .01, linecolor = black, title = ‘nonlinear");
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DEplot([diff (x(1), t) =x(t) - x(¢) ), diff (y(1), 1) =-y(t) +x()- y(2) ], [x(2),y(£) ], t=-2.9,x =
-90..90, y=-90..90, {[0,- 40 40] [0,- 40 40], [O 40,-401, [0, 40,401}, arrows = THICK,
stepsize = .01, linecolor = black, title = "'nonlinear");
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